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ANSWER ALL QUESTIONS

Read the following passage and answer the questions :

True economy consists in always making the income exceed the outgo. Wear
the old clothes or little longer if necessary ; dispense with the new pair of
gloves ; mend the old dress, dine on a plainer food, if need be ; so that under
all circumstances, unless some unforeseen accident occurs. There will be a
margin in favour of the income.

(1) Where in the true economy?

(11) What are the three domestic things mentioned?
(111) What does the writer say?

(iv) Write the antonym of ‘exceed’.

(v)  Pick out the word from this passage which is the synonyms for ‘repair’.

Read the following paragraph and answer the questions by choosing the right

The press and public were all fire and fury, especially in America. A bill was
passed by the senate according to which the manufacturer of nitro-glycerin
would, in the event of an accident, be charged with murder and liable to be
sentenced to death by hanging. Britain introduced safety regulation which
amounted to a virtual ban on the import and manufacture of nitro-glycerin.
France and Belgium made the possession of the dangerous oil. Alfred Nobel
saw himself face to face the ruin. There was only one way out of the dilemma
; that of trying to solidify the oil so that it could be transported with absolute
safety.

(1)  Nitro-glycerin was manufactured by
(1) The Scientists
(2) The Nobles
(3) The Doctors

(4) Larsen.



(1) A virtual ban was put by
(1) Britain
(2) Belgium
(38) France
(49) America
(1) Nitro-glycerin is
(1) Medicine
(2) Dangerous weapon
(3) A dangerous oil
(4) Gun-powder
(iv) The man who tried to solidify oil was
(1) Larsen
(2) Pringle
(3) Nobel
(4) Alfred Nobel
(v) The press and public were all fire and fury in
(1) France
(2) America
(3) Belgium
(4) Pringle
Answer the following in not more than 100 words each :
(a) How did books enrich Keller’s life?
(b) Comment on L.A. Hill'’s views on Freedom

(¢) Why did Orwell change his mind and decide to shoot the elephant?

(d) What are the factors contributing to knowledge society?
Answer in about 200 words :

(a) What exactly is Man’s peril according to Russell?

(b) What are the principles of good writing according to L.A. Hill?

(¢) Summarize Gandhi’s experience as a student in London.



4. (a) Answer the following questions in about 100 words :
(1) Why does Ulysses want to leave Ithaca?
(11) What is India’s gift to the First World War?
(111) Write an appreciation of the poem “Mending Wall”.
(b) Explain the following :
(1 ‘Tam apart of all that I have met’.
(1) Good fences make good neighbours

(1) I fall upon the thorne of life ! I bleed !

5.  Answer the following in about 200 words :
(a) Write an appreciation of the poem “Because I could not stop for Death”.
(b) Browning’s “The Last Ride Together” is a dramatic monologue. Discuss

(¢) Summarize the poem, “Advice to fellow swimmers”.

6.  Answer the following questions in about 200 words :
(a) Explain how “The Lottery Ticket” is a study of human psychology.
(b) Describe the friendship of Subha and Pratap.

() Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’.
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1. Read the following passage and summarize it :

There are times when the night sky glows with bands of colour. The bands may
begin as cloud shapes and then spread into a great arc across the entire sky. They
may fall in folds like a curtain drawn across the heaven. The lights usually grow
brighter and then suddenly dim. During this time the sky glows with pale yellow,
pink, violet, blue and red. These lights are called the Aurora Borealis or the
Northern lights.

The solar particles from the sun enter the Earth’s magnetic field and collide with
gas particles in the Earth’s atmosphere. These collisions create the Northern
Lights.

The kinds of particles bumping into each other determine the colours of the
Northern lights. If the solar particles collide with oxygen, the lights produced
might be green or yellow. When the solar particles run into nitrogen, the lights
tends to be red or blue. How fact the particles are moving determine the size and
shape of the lights.

In ancient times people were afraid of the lights. They imagined that they saw
fiery dragons in the sky. Some even concluded that the heavens were on fire.

2. Write an essay the following :

(a) Advancement of science and Human life
(b) Communal harmony

(¢) Globalisation.

3.  Answer the following :
(a) Write a report on how you intend to spend your vacation.

(b) Write a report to the editor of a newspaper on Eve teasing in your area.

4. Use the following idioms and phrases in sentences of your own :
(a) Lion’s share
(b) Cake walk

(¢) Monkey business



(d) Better late than never
(e) A dime a dozen

() Beat around the bush
(g) When Pigs fly

(h) Best of both worlds.

5.  Answer the following questions :
(a) Write a letter to a friend inviting him to your hometown.
(b) Write a dialogue between you and a shopkeeper at a bookstall.

() Write a letter to a publishing house asking for a catalogue of its latest
publications.
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Answer the questions.

IR fazrd|

(a)

(b)

()

(d)

2. (a)

(b)

Sketch the character of Duryodhana as described in Urubhanga.
GAlEreR 2fte umIfRRT od ?

Sketch the character of Jeemutha Vahana as described by Sriharsha.
SfeaaTgerar 2ftet urfemol 5 2

Sketch the character of Baladeva.

TR A} e ?

Sketch the character of Sudama (Kuehela) as described in Sri Krishnasya
Maitri.

FoorR 2fte amIfRR $5d ?

Describe how Viswamitra attained the status of Brahmarshi.

faeanfnr: oo geafd: sreq ? faergad?

Write the substance of the story
“farat: Sso?
ferendtysafafer wemm: ARl forzrd 2



Explain the following with reference to context.
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1. Define and illustrate Alankaras.

AT AT FHAfeId T RIOT feria |
(@) I (b) PR
(© 3focazeam: @ 3

2. Write the forms of the following Sabdas.

forfdfie fasanRsy rsqmaTfon forera|
(a) STCHP (i) (b) T (V)
© I (aqef) (d) 3G (V<)

) F&H (v (Y ©® ag(g) (FaH)
(e) UG (M) (¥sdh) () B () (v

3. Write the forms of the following adding the given terminations.

FATCIIT ATt ferad |

(@) F+da (b) ST + A
(© @Y+l @ 3R+ g
(e) Sit+axa ® g+ad

(@ fa+for+wag (b) 310 + |



Translate Sentences into Telugu or English.
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1. v w ferger forlam)
(a) TIIaROT 3R vguw|
() fasmet 3 gifor-am|
(© 39T o1 BI-geriGr|
@) It 3R FAI
(e) SRASPIRI B IR

2. WIfEcy fdwy w forgy ferlau
(a) deemen Fretter WfEcar 6 wRa vafrdt W vaTe Sifere
(b)  PUIHTE AR B fIBRI TR TeBIeT STeid §U IRG b Hged TR HabIeT Sifey

(© e s wffrle sfd & w9 # [{Tart &1 gediee Hifm|

d) dch P TP W e o ol ITH SR WG Sif & TTel & forenfed
Hifom|

3. fomsifciRad 1 &1 fBoqt # 31efaTG Sifor|

Only the lazy man is a sinner. The idle mind entertains bad ideas. There is a
proverb that the idle mind is the devil’'s workshop. There is no greater sin than laziness
and inactivity. Every one should avoid these at any cost. The only way to avoid these is
to engage one self is good deeds. Service to patients, help to brothers and sisters, co-
operation with friends, respect and service to teachers are deeds in which men should
engage their mental faculties.
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Find the equation of the plane passing through (—1,3,2) and perpendicular to the
planes x + 2y + 2z =5and 3x + 3y + 2z = 8.
(—1,3,2) Dot Howe 88 x +2y +2z=5 0B8a0 3x +3y +2z=8 Serod
©O2IOTP &) BOO FAEBEIZN EDA"ROZN.

Find the point of intersection of the line x4i=m=% with the sphere

3
x2+y% +2%+2x— 10y = 23.
x+3 _ y+4

x2+y2 472+ 20— 10y = 23 R T2=22=22 o3 9 90E0dd Pod
Dotopev S8 0d.

Show that the line joining prints (6,—4,4), (0,0,—4) intersects the line joining the
points (—1,-2,-3), (1,2,-5).

(6,—4,4),(0,0,—4) DotoHon Seu) B (—1,-2,-3), (1,2,—5) DotoHon Seng)
39 POGROL BI°H0sk.

Find the equation to the right Circular cylinder, whose guiding Circle is x? + y? +
72 =09,

x—y+z=23.

FoSEI X+  +2° =9, x-y+z=3 RS eoowdse ATHED  GRY,
BAEBEaROR E30S° 08,

Test for convergene : ;37" — (—1)™

Y37 — (1) GBoo), @DSEHED $88oS0d.



Examine the continuity of f(x) = 2xif0<x <1, f(x) =3if x =1 and f(x) = 4x if
1 < x < 2 at the point x = 1.

f(xX)=2x @03 0<x<1, f(x) =308 x=1 Ba 1<x<2 9OVIHE
f () = 4x ©aBHeE x = 1 Do H¢ @DV B $880308&.

Using Lagrange's theorem, Show that x >log(1+n) > :r—x if f(x) =log(1+
x),V x> 0.

x > log(1+n) > :r—x @ SeHod. f(x) =log(1+x),V x > 0. ®ond SIeE Rdezodo
&OAPROD K308 0.

If f € R [a, b], then prove that |f| € R [a, b]
f €R[a,b], ©00® |f| € R [a, b] ©9)&B0& JETD0I0E.
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1. (a) Obtain the equation to the plane containing (0,4,3) and the line through the
points (—1,-5,-3),(—2,—2,1). Hence show that (0,4,3),(-1,-5,-3),(-2,—-2,1) and
(1,1,—1) are coplanar.
(=1,-5,-3),(=2,-2,1) Hoohe rHot 5D B 38050 (0,4,3) DotdHre £
&) 308 BBy E08%,08. B 0D (0,4,3),(~1,-5,-3), (=2, -2,1) DBat
(1,1,—1) Do&oden SS$DAred Sr5od.

() Prove that the equation 2x2 —6y? —12z% + 18yz+2zx+ xy =0 a pair of
planes and find the angle between them.

2x% — 6y* — 122 + 18yz + 2zx + xy = 0 S0ESe50 2.8 SO DErDosod
308050
63 0455 §°e00 287,08

2. (@) (@) Find the angle between the lines of intersection of the plane x — 3y +
z = 0 and the cone x? — 5y% + z2 = 0.

X% —5y? + 72 = 0 9% Fog0H DB x — 3y + 2 = 0 B SOZN POLD
8&?0&»@

(1) Find the image of the line %1 =—= % in the plane 3x — 3y + 10z —
26 =0.
3x =3y + 102 — 26 = 0 B0H0S® x—;l = VT‘Z = % 39 GY, HADoHNH
£208° 0é.

(b) (@) Find the equation of the sphere which touches the plane 3x + 2y — z +
2=0 at (1,—2,1) and cuts orthogonally the sphere x2 + y? + z2 + 4x +
6y +4 = 0.
X*+y?+22 +4x+6y+4 =0 Fod) eomore Podar (1,-21) 5¢
3x +2y —z+2 = 0 S0 Ty 130D F'E500 BESewR) 8208708



z%2 +3x —
(@ @
@ii)
b)) @
@ii)
(@ @
@ii)
b)) @

(i)

(i)

Find the radical centre of the sphere x?+y2+2z2+4y=0, x> +y? +
z2+2x+2y+2z+2=0; x2+y?>+2z2+3x—2y+8z+6=0; x?+
yi+z2—x+4y—6z—2=0.

x2+y2+22+4y =0, x? +y?+ 22 +2x+2y+2z+2=0; x> +y>+

2y+8z+6=0; x2+y?+z2—x+4y—6z—2=0.
2 JEBezo Moro DoreSo|io S8%) ob.

1
3.4 5.6

At 1. IBOG WIeI0k.

1.2 3.4 5.6 7.8

Prove that % I - % + ---1s convergent.

State and prove D'Alembert's test.
D'Alembert's S8520 (5590 dEDoB0E.

n n _n
Show that Lt, e Zr=1m =
n n _rw —«
Ltn—»oo Zr:l n2+r2 - Z @D '!ﬁ)_oa)oaa.

State and prove Cauchy's Mean-Value theorem.
£ 050 Borreg ?ogsoeéo 05D0D DBTD0S0.

Find C of the Lagrange's theorem of f(x) = 1 + x? on [1,2]
[1,2] & f(x) =1+ x? (H3000°d8 Sroz? ?oz%"oeéoeS'si) C 0 5208° 0é.

State and prove Abel's lemma.
DBSy BITYH AGGN0D, DETD0BZN.

Discuss the differentiability of f(x) = |x — a| on R.
R 208 f(x) = |x — a] Boo¥), 350ddHS $8y0s0é.

State and prove first mean value theorem for integrability.
DIITCEDD 300e3ed Bog3go Sorreg ?00;0@"’3& 9590 AEIT*D0S06.
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State and explain Carnot's theorem.
5°57) DEToSB0 BOD DSBoSBL.

Define two specific heats of a gas and derive an equation for their ratio.
28 T°00Y B, Both IBAEISWO Ao, T2 DY), X)Kxo)@g H020080ID

SDEB etV T B0

Explain the liquefaction of Helium by Kapitza method.
ey HEB (0> ardADO BAEBE0 IHBOBHN.

Define black body. Explain Fery's black body.

E)2 SR X)ési)oxﬁ)aﬁ.n. 28 E)2\ D)™ DHB0wHR.

Find the system matrix for a thick lens and drive an equation for its focal length.
BFIB8  ELoBHI00I% ;5?335@(; S;BED 7, T BE), R5°2,7°?So€9"§,)§ DNEBEIBVR
@m&g;&n.

Determine the thickness of a thin film by using Fresnel biprism.
BR) 6£§Qeg§m OOAIPROD 2.8 HENID 8 ABOE); OBV EoA°0d0.

Explain the Fraunhoffer deffraction due to double slit.
2508ADEL TGO° YT (FPATHB DSLHZ JHBots.

Explain the working of a Gabor hologram.
Rerb FES° e 5 Do eS8 DSBowHL.

Find the work done in isothermal and adiabatic processes.
D306 80D 8ok ?é)Ssgé 518ahees’ 23sB8RD S ES0T0S500.

Distinguish between Joule-Thomson expansion and adiabatic expansion.
TE-riyd T8 550 B ?gs‘sg}g TgE SB0OR FELOYI.
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1. State and explain Plank's law of radiation.
@(};05 éw{:é Z)otb;ﬁr"i)& 39D HBoLBM.

2. What is second law of thermodynamics? Define thermo — dynamic scale of
temperature.

eg}rﬁé’ag B°g) 800G AADNTT) BeVHD. eﬁgﬁ@é &S TTONT°A AEWOW[0.

3. Explain Weins displacement law.
DD i (30T ANV DSBS

4. State Bose Einstein distribution law and apply it to photon gas.
570 - 0IYD DBBes B B30 B, T Poerd T ALYV EHATROBZN.

5. Explain Cardinal points and nodal planes of a lens system.
2.8 B8 S35 BooY), 589G Doty Basy FeS BeRwen M8y DdBowaw.

6. Write a short note an Coherance.
Doy 38y 000 Toged) [°050a0.

7.  Derive equation of Cosine law.

Cosine Q|00 G0Y), SAEBEBV T2EPS0.
8. What is Fourier transformation theorem? Write its properties.

B Breaross ?ogsoeém:éo DIB0BRN. TR B, GOV (@A,
9. Describe the construction and working of Babinat compensator.

ENTARIN éo&’)fbeﬁ QTEIBN 208010 SADADH Db égoxﬁ);&n.

10. Briefly explain types of optical fibres.
&y Bo&Y© 850 KPSQ Ko DHBo0B0.
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(a) Explain General characteristics of d-block elements.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

d-a)::g TPV e (TR0 DHBOYHHW.

Explain free electron theory and valence bond theory.
NG QOFS AEToBH 208050 Ik 206 AEToBHK> JHBoYD.

Explain HVZ reaction and Riemer-Tiemann reaction.
HVZ 5075 508050 8208-8500 %0750 9580:)20.

Explain methods of preparation of carboxylic acids.
5707808 edyre Boir8 SEetn 2580

Explain Lead-Silver system.
Pb-Ag ;Sgbé)&) DHBOHHW.

Explain Arrhenius theory.
800D RTTOBHD HHBOHH.

Explain IR spectroscopy and its applications.
IR g 5550080 208050 70 90087700 HDBoIHI.

Write a note on Enantiomers and pDiastereomers.
QIO 20BAN EALTHBEBITHE K778 [R50
X (6]

Explain lanthanide contraction.
eroEDE HOEHH000 DHBOYHD.

Write a note on semi conductors.
eag TIPSO K08 (PO,
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. Write about identification of alcohols.

€395 S0R K80 H8FOR [@EAL0BD.

Explain perkin reaction with mechanism.

B)® DS DTG G0N0 TRO® DHBOYH.

Write about freezing mixtures.

2rROESED DIEITOR K8 FPOH0H0.

Write about Ideal and Non-Ideal solution.

Write about Ostwalds Dilution law.

Write about Electro-chemical cell.

DEIGH-BRAHH= DPeDR K8 [FADD.

Explain conformational and configurational Bomerism.

Explain Aldol condensation.

e $050025500 K778 9HBoDBW.

Explain Claisen condesation.

300 D000 K78 EraboB.

Write about specific conductance and equivalent conductance.
DB TES o850 FHoBOOg TEEBRL DHB0YHI0.




